LIGHTED VANITY SET
WITH HIDDEN SHELVES

User Manual



INTRODUCTION

Thank you very much for choosing the Lighted Vanity Set with Hidden shelves. Please read this
manual before using the product as it may contains some information you don’t know. If you
have any questions, please feel free to send us email.

INSTALLATION INSTRUCTION

-01 -



PARTS LIST

Unit: (mm)

—(A) BOX

(3) x1 660x105 |(5) x2 340x66 |(6) x2 340x66 |(8) x1 580x66
(9) x2 323x66 |(10) x1 323x52 (A1) x3 292x332 |(13) xI 660110
a9 xi 730x400 |1 6) x] 730x400 (A7) x1 730x400 |(18) 1 644x140

Cg:)x1

601x96

Cg) X1

650x100

Cgb x3

252x96

u 7 I |
29 x1 295x280 |31) x1 300x120 |32 1 252120 |35) x1 400x235
X2 385x220 |37) x1 330x117

° 9

L

Unit: (mm)

PARTS LIST

— @ BOX

() x 680x990 |(2) xI 956x110 |(4) x1 660x105 |(7) I 580x66
| \ \ 4
a2 x2 660x221 |(14) x1 1000x420

L

22 x1 608x293 |23) x1 285x60
[ e m
x4 259x293 300120

LT

GID x1

723x310

—_——y

-02 -




ACCESSORIES LIST — (&) Box

(Company: mm)

@6x40 15x11 @ 12inches
Jo=9 o o539 oS3 of
x38
(D) 6x40 (E) M3.5x14 (F) M5x40/#3 (©) 5x®12
@:mmm
== < e (—
X16 x44 5 X1 x10
(H) M4x20 (D) 6x25 () 12x10 (L) 21mm
@ x5 ~ A
@f@ m & )
xo x32 x32 s
@ 12inches @ USB
] 59 oE5do o s—mr— oo IIIIIIIIIIINI
x10
@ D6x341 ® 320x180 @ Back plate card
/ @ @
x6 X2 “ x4
@ ®35 @ Wire card @ M3.5x12
&, g
x1 x14 x20
® O
-
/ =

TIPS

1. When installing the product, use a soft surface (such as carpet or cardboard) to avoid
scratching or damaging the surface of the product.

2. Do not use any glue.

3. The product is unstable before it is assembled. Please pay attention to the product instal-
lation sequence, and align all screws and screw holes before tightening.

4. The structure of this product can not meet the requirements of children climbing.

-03 -



STEP 1

INSTALLATION STEPS
Press the plastic part in the indicated direction to separate drawer
runner M1 and M2 before assembling.

REMARK: Please grip the M1 part
while sliding the Mz part.

- 04 -



REMARK:
1. Please locate the holes from the back of part M.

J J
M'IBOC'(:%E jé@ C):]OC) o E o Eﬂ‘

Mi1 Front: | T 10 O O O = T o &j

2. Then install part E from the front of part M.

YOU WILL NEED

M1 x5

E x10

- 05 -




STEP 3

YOU WILL NEED
M1 x5 E x10

-06 -



STEP 4

YOU WILL NEED
A x2 B x2

How to install the cam locks /@ % ﬁ
and dowels: 4 / x

-07 -



STEP 5

YOU WILL NEED
ﬁ Ax2 | Bx2 | G x4

-08 -



YOU WILL NEED

A x4

B x4

G x2

-09 -




YOU WILL NEED

-10 -



STEP 8

YOU WILL NEED
A x6 B xé6

Please pay attention to distinguish
the top and bottom of #14 board.

-11 -



STEP ¢

YOU WILL NEED
Q x4 E x2 V x4 R xI

N
FlE) w2
/m Y
/ .
1l




STEP10

INSTALLATION STEPS

Press the plastic part in the indicated direction to separate drawer runner
Ci1and C2 before assembling.

REMARK: Please grip the Ci part
while sliding the C2 part.

-13-



STEP11

REMARK:
1. Please locate the holes from the back of part Ca.

! ‘
C1Bock:§§ Tco fooo ; EOE

CIFI’OHTZ\r C_1D| (O O O ) o@o@j

2. Then install part E from the front of part Ci.
3. Please install the slide correctly as shown in the figure.

YOU WILL NEED
Ci1 x4 E x8

“14-



STEP12

YOU WILL NEED
A x6 B xé6

\\

-15-



YOU WILL NEED

A x5

B x5

“16 -



STEP14
«1 PC @ Q 13 pe @ YNO)L(J]WILL NEED

Install the T Install the
N st bulb (N)  middle bulbs
| | (13 pcs)

O
@
N L .
\

It is recommended that two people install it at the same time, one
person install the bulb, and the other secure the plate.

-17 -



N2 ®

-18 -



STEP16

YOU WILL NEED
E x14| T x14| A x5

~
~

Note: Be careful not to bump
or scratch the mirror when
installing the bulb.

S




YOU WILL NEED

B x5

X3

ﬁ l

- 20 -



YOU WILL NEED




STEP19

YOU WILL NEED
K x4 U x4 H xI M2 x2

20

{ T ul
=5 \

> 0 > Qo ————0 @OéE

-22 -



YOU WILL NEED

F x12

J x12

-23-



STEP21

YOU WILL NEED
H x3 U x12 | M2x6

.

Ul FRONT Ul
D (@) @d; O Qo % (@) []c;J E
e

-4 -



F x4

YOU WILL NEED

J x4




STEP23

YOU WILL NEED
@@ K x4 H xI Ux4 | M2x2

le—

Ul FRONT Ul
D O []<;> O Qo é@ (- [jc;> E

- 26 -



STEP24

- push the drawer carefully inside
- until it stops.
. % If the drawer does not go in

smoothly please take it out
and repeat the step.

 REMARK: Align the slides and

«—
ﬁ

/




STEP25

YOU WILL NEED




STEP26

YOU WILL NEED
K x5 D x3 O x3

YOU WILL NEED
V x4 C2x2




YOU WILL NEED

K xI

F x4

J xé6

@ [

= il

-30 -



STEP28

YOU WILL NEED
D x3 O x3

YOU WILL NEED
V; ﬂ V; V x4 | C2x2

-3] -



YOU WILL NEED

X2

P

-32-



STEP30

~ REMARK: Align the slides and push
' the drawer carefully inside until it

3 «—

~ stops. =
| o |

W If the drawer does not go in ﬁ

smoothly please take it out
and repeat the step.

-33-



STEP31
j YOU WILL NEED ﬂ YOU WILL NEED

F x2 F x2

/

G x4 A x4 B x4

3 \ YOU WILL NEED 4 \ YOU WILL NEED




STEP32

YOU WILL NEED

Add L fittings to all exposed holes on the front of the product

WARRANTY

We offer an 18-month warranty after the original purchase date. If there are manufacturing
defects on this product, please contact support by email with your order number and other
details about the problem.

-35-





